oooog o120

gooo
00000000000 000 (Doooo)

20140 120 290

gogoooog

ooboooboocobO OooobooobobocoobOobocoboooooon

o0ob CoOooooooo

oopbooO0o oooooooobod

000000 1/f00000000C00000000ODO0000O0O0OD0ODOODO
ooboo0 oOoobooooboboooDbo

050 00000000000 (0D)

53 ODO0O0ODOOOOO0OO0OOO

0000000000000 000000O00DO0D0D f))OODO0OLD0OLOODDOUDODODDODODOOODODOOD
gobooobooooooooooooooooooooboooooooobo0oooboooooOooooboOoooDoDO
goboooboocooooooooOoobooOooOoooOooOoooboOooOooOoOoobbo0oOoDOboOoOoooOoOoOoboo
gobooobooobooooooooboooooooooooooooobooboOooDo

coboooooooooooobOboOoOobObocOoOoOOoOoOoOoOoOoOoOoOoOoOobOOoO00oOOoOoOoOOoOOooOooon
goboooboocooooOoooOooooooOobOboOoOoooOooobocOooOOoOoOooOoOoOobobOOoOooOoboOoOobon
gobooobooooooooboooooooooooooooooooooooDbbo0oDbDbOOooDoODOooDoOo
goboooboocooooooooooOoooOooOoOooOoOoOoOoOoOoOoOoOoOoOoOoOoOoOOoOobOOoOoOoOoboOoOooDOoa
goboooboooooooooooooobboooooooooooooOobo0oDbDooooOoooooOoOoDoOoo
goboooboocoooooooOoooOoooobOboOoOoooOOoOoOooOoOooOobOoOoOoOoOOoOobOOoOoOoOoboOoooDOoa
gobooobooobooooobooobobooooboooooOoOooboooooobgoo

531 00000

0000000000000 00D0O000O00O00O0Od (baseband communication) 00000000000
f(t)000000000000000000D00000000 V(t)=f(t) (J(t)=f(¢)00000000 (00O)
gobobooooboobooooboooboooobobobooobboobboooboboobooboobboooboobo
000000000000 0000000000 (transducer) 0000000000000 DDOOO0O0ODOOOOD
0000000000000 000000000000D00000000D0000000000000000*O

0000000fx)0000000ft) 000000000000 0000D00000D0D0O0 (carrier (wave))

*1og V(#)=f(¢)000000000000000000000000000000O0O0O0000O0DO00000O0O000O000000
gooooooooo
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Input Modulator s(1)
__________ Demodulator | 056 000000000000
Oo—— ——O O—> Detect O
(), c(B)} . (Detector)
1@ Transmission pooOoOobobObObOOoUo0o0oooo

00000000000000 f(¢)
000000 c¢(y) 00000000
Carrier 0o .Z{f(t),c(t)} 0000000
c(t) ooooooooo

0000000000000 (carrier communication) 00 0000000000000 O0ODO0OOOOOODOOOO
oboboboboboboboboobooooobooboooooooooon

000000000000 0000000D00000000000DO0000 (000000 simusoidal carrier)
00000000000 (amplitude modulation, AM) OO0 0OO (angle modulation) 000000000000
000 (frequency modulation, FM) D000 OO0OO (phase modulation, PM) 00000000000

gooooboobooooboooobobooooboobbooobooboboobobboobobbooboboobDoLoDOo
0000000000000 D00000 ( pulse amplitude modulation, PAM; pulse position modulation, PPM;
pulse width (duration) modulation, PWM (PDM) ) 0000

000000000000 DO0O0DOO0O0D fl)ODODOODO

fo 0 (demodulation) 0000 OO0 (detection) 00000000
OOoO0OC0s6000000D00000DOOOODOOOODO
0000000000000 00D0O00DO0O0O0O0OO f(y)o
(1) 00000 ¢(t) 0000000000 Z{f(t),c(t)} D000
obooboboboboo

s@) A | 53.2 0000

00000M0O000000000000000000000
00000000000 f(t) (|f(t)] <10000 ct) = Acosw.t
oooooo

s(t) = ALl + mf(t)] coswet (5.29)

057 OO0OOOOOOO

000000000000000000 (modulation index) m
0000 0<m<10000m>1(000)00001+mf(t)<000000000DOOODOOODOOO
0000029 0000000000g

S(lw) _ /_oo S(t)eiwtdt _ /_oo A['L n mf(t)] COS(wct)eiwtdt
:A@wwfwﬂwwfwﬂ+%WMWﬂMyHW@+%m}(mm

00000D00000F(iw)0 f(t) 000000000 f(4)0000000000F(iw) = F*(—iw) 0000

F(io)|? S(iw)|?
|F(io)| [S(iw)] LSB USB

USB LSB
,/\ﬁ\\//vm\w /AJ\\,/A/\\“ “//\ﬁ\\//vm\w
(b) —(,l)c 7/ T 7/

(a) ! o

058 00000000 (5.30)0000000000000() 0000 f(t)00000000000000
0 Fw)|?’0000000000000(b) (2)0 F(iw)0DOOODOOOD s(t)00000000000000
0 |S(iw)?0LSBO USBOOO +w.00000000000000000000
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g(),' 059 O00O0O0OOO0OO0OO00OOCOOOOOOO0

] . 000000000000000000D00000
(b) 00 w.0ODOOODODO0 100000000000
ho) 00000000() 00000(b) 000000

0000000000000000000(c) 00

% D0000000000000000000000
(c) \/ \/ 000000(0000000)0

gooooood |F(iw)|2D|:||:| 58(a) 0D0ODDODOODOOOODOODODODDOODDOODODOOODODODOOD
(5.30) 0 0000+w, 000000000000000000000000000 |Fliw)]?20 4w0000000
g0o00o0O0obO0obO0ob0obO0ob0obOobO0ooO0bO0oDU0bD0Dw=0000000DO0ODOODODODODOD
gooooboobobooooobbbddd we bbb DLDLOUOOD we OO DO
00000000000 (upper sideband, USB)DODOO0O00O000O0O00OO (lower sideband, LSB) 00 00O

0s590000000000D00D00DO0D0ODODODO0ODODODODODODODODODODODODO
gboobobooboboboboboboooooooboooooooboob0obDobOobOobOobOobOobOoDbo
gogoood

0000 (.30)000000000000DO0O00O0ODO0OO00ODDO0O0DD0O0DNO0O0ND w.0ODOLSBO
USBOODODOOUO0OODODOO0O0OOOOO00ODOOU0OO0ODOOO000DDOODOO00D0ODOODOODUOUDODOOOO
00000000o0000o00o00000o0o00oooo0000D00oo000o0o0o0o0oooooono UsBO
000 LSBOOUOOOODOOUOOODOOOODOODOOODOO (single side-band, SSB)DO0ODOO0OOOO
0000000 SSBOOO0O0ODOO0000O0O0OO000ODOOU00O0ODOo0000o0Dooo0oooooooooon
goboobooooboooobboooboooboboooboooooobooboobobDooobbOboooDbOoboo
0000000000000 0000000000000O0D0n (vestigial sideband, VSB)OOOODOOODO

533 000D

0000000000000 00 (DObO00O00020000000)000000000O00OO0OOOODO
goboooboooooooooooooooooooooooo0ooooooDbboooooooooboOooDoO
00000000000 200000000000000000000O0O0O0O0OOOOCCOOOOOOOOOOO
oobooooboo

oooooooooooooon

s(t) = Acosbi(t), 6i(t) = wet+ Pt f(1)]. (5.31)
oo0oooo pyooooooooad
wi(t) = de;it) =we + w. (5.32)
0000 f(¢)0 d¢/dt00D00O00ODODOOLO0ODeODOODOODOUODOODODOOODOO
WTON_ ity (FM). ol F(0)] =y (2) (P (5.33)
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g spm(?)
_
—F—
_— |
—_ |
_
<>
—
_—
<>
_ |
<>
<>
—_—

spm(t)
—
—
—
—
—
—
—
—
—
—
—
—

‘ 0510 O0O0O0ODOOOO0O0O0(x) O00ODODODODO
(c) 0o0((b)00oO0O0O0oOoOOd()0OOoO0OoDOOn

gogoo
spMm(t) = Acos {wct + ks /t f(T)dT} , (5.34)
spm(t) = Acos|we + kf f(t)] (5.35)

gobboooboooobooooboobooobooooooOoooobooon

t
Aw = Bp | F () lmas| = ks frns A = kg }/ f(rydr|  for FM, (5.36)

Aw = kp|f' ()| maxs  Ap = kp| f(t)|max for PM (5.37)

gooo
cobooooooobooobOocOoOooOooOoOoOo0oOoOoOoOoOobOOoOo0O0oooOOoOobOOo0oOobbwObOOOOoDn

000 #/200000000005.10000000000000000000000DOOOOODOOOOODOOOD

0000000000000 00O0000DO0O00000DO0ODO00DO0OOD0DO0ODO0UODOOD (OD)DO

f(t) = Apcoswpt
00000000d¢rm = (kfAp/wy)sinw,t 000000

sem = A cos(wet + Bsinwpt) = ARe [exp(iwct) exp(if sinwpt)] (ﬂ = ke Ay = ﬂ) .

Wp Ip

sinwpt 0 T =27/w, 000000000000 Dexp(ifsinwyt) 0000000000000

exp(ifBsinwyt) = Z cn exp(iwpt), (5.38a)
1 [T/2 1

Cn = —/ exp(i8 sin wyt) exp(—inwyt)dt = —/ expli(8sind — nb)dd = J,(B) (5.38b)
T ) 72 2m ) x

0oo0oO0oooJ.(z)0n00000000O0ODOODOOOOOODOO

sem(t) = A > Jn(B) cos|(we + nwp)t] (5.39)

n=—oo
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0.4 ;
03[ |
0.2} i

I

o0

3 0 R
-0.1} ‘ i
ook | 0511 000000000 Ju(z)00z =
03 | 0000000000000 0OO0ODODO
T § 0000000000000 (w—we)/wp O
-0.4 ' ' ' . ' ' . 000000000 00000000D0DO

-8 -6 -4 =2 0 2 4 6 8

gobooboooboboooboboobon

gobooobooooon

Srum(iw) = A Z In(B){dw — (we + nwp)] + 0w + (we + nwp)]} (5.40)

n=—oo
oooo
0000000000000000w.000000000000000000(05.11)000000000000
0000000000000000000000000000000 J_,(x)=(-1)"J,(x) 00000000000
0000000000 0000000000000000000000(5.36)0 A¢p000000000000000
0000000000000000000000000000000000000 we—kffmax < wi(t) < wetkf fmax
000000 w; =db;/dt (000000, instantaneous angular frequency 00000 ) 0000 2kf fiax O we O
0000000 f) 000000 w, 0000000000 (00D0??0)0000f(#)0000 n/w, 00000
0000000000000000000000000000000 +2w, 00 4w, 0000000000000
00000000 we—kffmax — 2wy 00 we + kffmax + 2w, 00000000000000000O0DO00ODO

Whwl = 2(k'ffnrla,x + QWW) = Q(Wf + 2Ww) (541)

goobooboooboooboobboobboobbo0bbobboobboobboobLDbooL o
000000 Y¥%L0000000000D00ooooo

Whwa = 2(wr + ww) (5.42)

0000000000000000((.41)0 (5.42)00000000 (wpw = 2(ws +fwy) 000060 1<E<2
000)0000000000

534 00O0ODOOODOODOO

FMOODOOOOODOOOOAMOOOOOOOOOOODOO*®0O0OO0O0000000005.1200000
goboooboooo

goooLCO0O0O0oooooOoOooOoO0OO00O0oOoOO0O0O00oO0o0DOoOooooOoboOoOOoOoOoOoOoOoOooO
0oooooO0O0000000000D0D0D0000000O0OO0000DO0DFMOOOOOOOOOO AMDODOOO
00000000 AMOO0OO0OD0OO0O0U0ODO0ODO0ODO0O0O0ODO0ODO0ODO0O0O0DDO0O0O0O0ODOn 5.12(b)00
000000o0oOoU0o0oUo0ooU0oO0oUooOoooAMOOOOOOOOOUOODODDOOOODOOOOUOOOO
000000000000 0O0000 (0000000 00)0D0000D000O0DO000DO0O0DODO0O0OODDOO
0000000000000 00O00000DO00DO0D00O0O000D0DOO (DO)0ODOoDOODUOOODOoOOD

*2 AMODO0 SSBOOODOOOOOOOOOOOOOOOOOOOOO0ONOOONODONONODONOOONO00N0ONNO0NOONoNoooooon
gooo
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(a) (b)

0512 () FMOOD 200000000000000000000000O0D00O0O0O0OO0OOOOOOOOO
00000000 (b)0000000000000O00 wOOOOOOOOODOOOODOOOOOOOOOOOO

535 0DOO0OO

000000000000000000000000000000000000000000000000000
000000000000000000000005130000000000000000000000000 (0
00000000)0000000000000000000

00000000000000000 () 00000000 (529000000000 »(¢)000000000
00 ¢(t)0000000

r(t) = Ay [1 4+ mf(t)] coswct + ni(t) (5.43)
g(t) = Apmf(t) + no(t) (5.44)

O0000On,(t+)0 0000000000000 DOCOODOOOOOODDOOUDOODOOODOODDOOODOOODODOO
0o0o0o0o0ooooooooooo00000oo0ooDooooooo000000oONFOOOooooag
000000DO00oDO000O0U00000D0O0DO00OO0O0DU00O00DDU0DO0DDO0DUOOOUODUOOUOOOOO
gooboobooooooboobouboDooboobooD0b0boDbObo0 b0 oDoOoooooboo
nl(t)coswct—kn,«(t)sinwctDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD*P’DDDDDDD
n()00000000000000000000000On.(¢)=m(@)0000(C0)000000000 SO
000000000000 S0 0
Sor = By s = a2 (5.45)

oooo

0000000000 o0oOos.4000000000000000000000000Rn, OOO0OOOOOO
ogoooooooo
Ng NagWw Ng X 2Wy NaWw

2oy = , = A4
2><27rxw T 2T ™ (5.46)

Transmitter —»>O--—-----—----- Input Output

Y

Detection

Y

noise

0513 ODoOO0O00O0oooOoOoOoOoOoooooo

* 00000000000 000000000000000000000000000000000 (phase sensitive detection, PSD) O
gooooo
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ACON

Sn(io)
20y, 20y, }
< ] a2 20y,
1 /L /L 1 © ) [l > @
T 7/ | 7/ T - | -
Oc (b)

(a) 7
0514 AMOOOOODOODOOOOOODOODOOOOOOOOOO0O0O000000000000000C (a)

0oooooooooo(b)ooooooooo

00000D0O0O0ooOOooo sS/NOO

S| _ alAZ + (Arm)*(f?)]
N = ST : (5.47)
S T AZm2(f?) S
2 =2 M gy 2 4
N out NaWw " in (5 8)
oooooooooa -
m () (5.49)

T Trm

00000000000000<m<1000000007<1/2000000 00000000 (f?)=1/20

0np<1/30000
0000000000000000AMOO00O000000000 0000000 00000000 r(t)

od

r(t) = A, cosfwct + o(t)] + ny(t) coswet — ny.(t) sinwet = A, coslwet + d(t)] + An(t) cos|wet + dn(t)]
= Vy(t) coslwet +6(t)]  (0(t) = ¢(t) + dno(t)) (5.50)

O000A,N(t) 00000000006, 000000¢,(t)000000000000O0O0OOOOODODOOOO

0 A, 00000
(5.51a)

Ao = /AT H Z2(0) + 24, An(t) cosln(D) — 910,
o~ arctan A sinlon(t) — 9(1)
A Ay (0 cosln (D) — 9(0)

(5.51b)

gooo
oooooooboooooooooooooooboboooobooooOooooboooooooooOooooDboooDo
A, 000 (0DO0O0OO0)000OD0OOO0OOODOOUOOODODOOOOODOODODOODODOODOODOOODO

(A,> A,(1)00000000000000000000000
Anl) Gnlom(®) — B(1)] (5.52)

a0 = anctan | 228 sinfo (1) - o(0)]] = 22

000000000000000000 42/2000000000000000 NV;OOODOOODOOOOO n,/20
0000000000000 00D000 wpOOODDODODAMOUDODOO nwe/fO000000OOOODO S/N

gooooooood )
S; A
Pi_ A (5.53)

Ni  news’

D000 S/NODPMOFMOOOOOOPMOODOD §()00000000 k,f()00000000 k2(f?)

go0ooooooooao )
Nopum = E<An(t)2 sin®[pn (t) — B(1)])
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O00000¢,(¢t) 0 [0,27]00D0000000DO0OO0O0OO0ODOO0OOOODOODOOOOODOOOODODOOODO

oDoo 1
—3 (An () sin® ¢(1)) =

NaWw
2
A2 mA2

000000f(t)0000 Aycosw,t 000000000000 £2/200008 = kyA, 000 0wp = 2(8+k)wy
00o000ooS/NOO

Nopy (5.54)

So 5_2 A2 7ﬂ_2w_B A2

S.
=B*(B+k)=— .
N, 2 NgWwy 2 Wy NeWB AR )N- (5.55)

7

0ooooooo
FMOOOOOODOOOOOO0dY/dt000000000000000000 kf(H)0k3(f2) 00000000
0 dnywo/dt00¢, 0000000000000 0000000000000000000000000

dnyo 1 /dny 1 [ov pdw  new?d
Nopag = _ L fdmy 1 28 Maly 5.56
M <dt> A3<dt> Az/_ww"“’zw 3 A2 (5:56)
oooOoo S/NDDDPMDDDDDDﬁEk’pr/wWDDDD
So 2 Si
Po _ k) 2L .
R L CRD (557)

00000000000S/NOODDODODOoooooooo
So

No

So

S,
=352 =2 N
PM o

(5.58)
FM NO

AM’ No AM-
DDDDDDDDDDDDDDDDDﬁZ1/\/§|:ID|:|D S/NOOODOD FMO AMOOOOOOOA>10000

PMO AMOOOOOOOOOOOOOOOO

OO0 GOoOOoDoooood

0000000 (l)00o00b00000O0()UDb00L000O0@B) 00000 DOUO0DOD0LDODUODODOO
goooboooobooboobboobooboooo 3oooobooobooboOobooboobooDbDoOoDOoOoD
(4)000000000D000000O0O0DO0OO0O0ODO0ODODO

00000(l)0b0000O000D0O0O00DO0O00O00O0O(2)D0DO0O0DOOOo

G-100000

(2)000000000000O0O00O0DOO0DO0O0DO0O0O0O0OO0OO0ODO0O0O0DO0OODOODO0OODOOODOO
gboooOooooboooooOoocoocoobOobOOobOOobOOoOoboOoOoOoboOoOoOobDOoOOoOoOobocOOobOOobOOono
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gobobooobOocoobOooooooooOooboooooooo

oooooooooooooobboooboOoooboooooooobooooOooOOooooobooOoOobDbooooD
gobooobOocoooOoooooooobooboooooboogoo

£
—1 1 -
: £ m o
| i
sz - oy L NS
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vy _HJ xxﬁmj Ni A N 0515 0000000000 O000
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